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Half an Equilateral Triangle Math

c c=bx1.155
7 J§ Or 1.732 or
b b=c x.866
e 1 or
a a=bx.5775
or
c=ax2

Calculating Size of Block

Assumption: Each Diamond = 4" long (these are 2 side bs)
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o Width = 16" x .5775 = 9.24”

= Total of/4 divisions Length - 4" X 4 diViSiOI"IS - 16"

60 Degree Triangle Quilt Math ©Kari Schell 2017 www.onpointquilter.com

1|Page



on point
"7 quilter

Calculating Size of Quilt

Length = 16” x 3 divisons = 48"

1 Width = 9.24" x 6 divisions = 55.44"

Custom Set Layout
Size of guilt's center lapout: Original Layout 100 X 86-5
100.000 x 86.594
P CE AR Change quilt layout to 55.5" x 48"
Witk H00.000
I Custom Set Layout
Height Size of quilt's center layout:
I 55.500 x 48.000
Size of center rectangle
Width
Height
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